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1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
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1. SRIMINTH BRe ¥ Agelor &l gfaerd 1. The percentage of nitrogen in Di-

T § ammonium phosphate is :
(A) 46% (A) 46%
(B) 18% (B) 18%
(© 20% (C) 20%
(D) 21% (D) 21%

2. f=fafed § ¥ o= 99 @1 fgdlgd 2. Which of the following is not secondary

R plant nutrients ?
(A) Dfcarm (A) Calcium
(B) HWIRRM (B) Magnesium
(C) TR (C) Potassium
(D) AR (D) Sulphur
3. 9N B¥d Pl SR g 3. Example of sugar crop :
(A) I (A) Sugarbeet
(B) ®UM (B) Cotton
(C) = (C) Sugarcane
(D) (A) 3R (C) T (D) Both (A)and (C)
4. S 59 B @1 U © ? 4. Family of jute is :
(A)  feforge (A) Tiliaceae
(B) AT (B) Malvaceae
(C) Tfervdl (C) Aliaceae
(D) T (D) Asteraceae
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YT HHd Ud ST B

(A) 3D BE BT
(B) 3T B B
©) Rl HifdT @
(D) W A W I T

frefofed @ oF-a v g w8
g ?

(A) T—TICH

(B)  wrorar—feforge

(C) EGT—TferTHil

(D) TgR—TITHl

FefRad d 9 dF-A 4 A @

B el 8 ?

(A) 3iic

(B) T

) T

(D) o
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Ratoon cropping is an example of :
(A) Sequential cropping

(B) Inter-cropping

(C) Relay cropping

(D) None of the above

Which of the following is not correctly

matched ?

(A) Sugarcane—Poaceae

(B) Phalsa—Tiliaceae

(C) Garlic—Aliaceae

(D) Niger—Poaceae

Which of the following is not a Rabi

Season Crop ?

(A) Potato

(B) Sugarcane

(C) Wheat

(D) Chick pea

Set-C



10.

11.

3RER BT qFfad A9 2

(A) DT B

(B) 3IRTguIl HeTgdl
(c) fmr s
(D) Qe st

frfoRed & 9 aF-0 wOa W deh
g ?

(A)  ®U™

(B)

(C) A%l

(D) SHIF T

(5)

10.

11.

Botanical name of Arhar is :

(A) Cajanus cajan

(B) Oryza sativa

(C) Zeamays

(D) Avena fatua

Which of the following is a Fibre Crop ?

(A) Cotton
(B) Jute
(C) Mesta

(D) All of the above

Not correctly matched :

(A) Rice—Oryza sativa

(B) Green Gram—Vigna radiata
(C) Sorghum—Sorghum bicolor

(D) Lentil—Cicer arietinum

Rice-wheat is a :

(A) One year crop rotation

(B) Two year crop rotation

(C) Three year crop rotation

(D) Four year crop rotation

Set-C



12.

13.

14.

15.

qGhT B Felg W YA B AT B IR
FRAT JETR B

(A) I A I

(B) ¥ waa @1

(C) 3FIidd Ba BT
(D) Rel BIftT @

GRUAIR & T :

(A) 3FaBH T

(B) Wud &I U

(© (A) Td (B) T
(D) SHw ¥ 3 K T
AR BT R A R
(A)  feforgem

(B) ¥l

(C) Fm

(D) Tfercdl

T H RS @ HET Bl g

(A) 2n=280
(B) 2n=60
(C) 2n=40

(D) 2n=82
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12.

13.

14.

15.

Potato is planted before the harvesting of

maize is an example of :

(A)
(B) Mixed cropping

Inter-cropping

(C) Sequential cropping

(D) Relay cropping
Weed is a/an :

(A) Undesirable plant
(B) Crop plant

(C) Both (A) and (B)

(D) None of the above
Another name of Leguminosae :
(A) Tiliaceae

(B) Fabaceae

(C) Crucifereae

(D) Aliaceae

Chromosome number in sugarcane is :
(A) 2n=80
(B) 2n=60
(C) 2n=40

(D) 2n=82

Set-C



St : 5
6. 1 v % et €l § 16. In which crop the process of Pegging

takes place ?

(A) TTW?[ (A) Groundnut
(B) dHIh (B) Tobacco
(C) =1 (C) Sugarcane
(D) 3] (D) Potato
17. 59 IS¥ &1 W SARH § Yo W 17.  Which state has highest rank in foodgrain
27 production ?
(A) HERT (A) Maharashtra
(B) ST U (B) Uttar Pradesh
(C) Yl (C) Punjab
(D) NTSTRITT (D) Rajasthan
18. <418 @l T fhg vyt ¥ Bt © °? 18.  In which crop does the process of curing
take place ?
(A) 3Te] (A) Potato
(B) =T (B) Sugarcane
(C) dHIg (C) Tobacco
(D) U (D) Cotton
19. TET B¥CT Bl IGENT © 19. Example of cash crop is :
(A) 3T (A) Potato
(B) =1 (B) Sugarcane
(C) dHIh (C) Tobacco
(D) Sugad FI (D) All of the above

Ag-102 (7) Set-C



20. ffeifEd 4 & W% @ ®9d B =

ERUAIR BIH-4T1 & ?

(A) WelR¥ AER

(B) WSS Sdeiai
(C) Wigelerd et

(D) Suda Wl

21. DU B WA & foly DH-H a1 U

g ?
(A) Tt T
(B) rell T
(C) Il HaT

c

(D) el T

22. 991 @I @3 AT B :
(A) WAHS YRR
(8) fecfts spRepwer
(C) RETU HUREHRY|

(D) SUYa H A Bl 7l

Ag-102
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Which of the following is a major weed

of wheat crop ?

(A) Phalaris minor

(B) Cynodon dactylon

(C) Phyllanthus niruri

(D) All of the above

Which soil is suitable for

cultivation ?

(A) Red soil

(B) Black soil

(C) Alluvial soil

(D) Yellow soil

Sowing of seed is a :

(A) Primary tillage

(B) Secondary tillage

(C) Conservation tillage

(D) None of the above

cotton

Set-C



23.

24,

25.

S g™ @ fhar fod waa ®§ @ o

g7
(A) g
(B) o
(C) W

(D) e

DI-Ul B AGATSAI Gl DT Fal
4 ReRIRYT ol § 7
(A)  fiere el

(B) TolE Hual

(C) M drell Bel

(D) 3 dTell PH¥iel

SEIE qaT T 91-va. B §

(A) 7.8
(B) 7.0
(C) 8.0

(D) 9.0

Ag-102
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23.

24,

25.

In which crop the process of earthing is
done ?

(A) Wheat

(B) Paddy

(C) Maize
(D) Potato

Which crop fixes atmospheric nitrogen in

the soil ?

(A) Oilseed crops

(B) Legume crops

(C) Cereals

(D) Fibre crops

pH of neutral soil is :

(A) 7.8
(B) 7.0
(C) 8.0

(D) 9.0

Set-C



26.

217.

28.

29.

Ag-102

QAT ¥ el BT giaerd B €

(A) 18-22%
(B) 20-25%
(C) 45-50%
(D) 30-40%

el 1 e o I W dic § 7

(A) FUE

(B) S

(C) Iai

(D) I

MR & Qe § foaq gfoera g™
gl & ?

(A) 0.5%

(B) 0.2%

(C) 0.3%

(D) 0.4%

ffeiRad § | BIF-91 R e @
SR

(A) TR DI TGE

(B) THIHHRT

(C) &R

(D) el

(10)

26.

217.

28.

29.

The percentage of oil in soybean is :

(A) 18-22%
(B) 20-25%
(C) 45-50%
(D) 30-40%

Pink boll worm is a major insect of which

crop ?

(A) Cotton
(B) Jute

(C) Mustard
(D) Maize

What percentage of nitrogen is in farm

yard manure ?

(A) 0.5%
(B) 0.2%
(C) 0.3%
(D) 0.4%

Which of the following is not a bulky
organic manure ?

(A) Farm yard manure

(B) Vermicompost

(C) Green manure

(D) Oil cakes

Set-C



30.

31.

32.

Ag-102

ol Weell # UERAT kil g
(A) DIEETESE Bl

(B) TN @I

(C) T @I

(D) 91 D

qwy fagm &1 fiar o 8 ?

(A) YR SHAI

(B) SRRl T

(C) ifeT

(D) TH. UH. MMM

fbd Boel B g & FHI T AI0EH
P! ATGLIHT Bl © ?

(A) Haw

(B) T

C) o

(D) ®UN™
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30.

31.

32.

Legume crops are rich in :

(A) Carbohydrate

(B) Protein

() oil

(D) Fat

Father of Agronomy is :

(A) Petero Decresenzi

(B) Jethro Tull

(C) Liebig

(D) M. S. Swaminathan

Which crop requires lower temperature at

the time of sowing ?

(A) Maize

(B) Wheat

(C) Rice

(D) Cotton

Set-C



33. fHfafed § 9 o9-d1 dfelad Javd 33. Which  of the following  complex

37 fertilizer ?
(A) IR (A) Urea
(B) WIT 3 IR (B) Murate of potash
() RiTa ?jCI'\’quIB‘c' (C) Single superphosphate
(D) STESMIFIH BiRe (D) Diammonium phosphate
34, ¥GI IGAT DI YNafid fHar ST Fehdr 3 34. Texture of soil can be changed by :
(A) SR® gRI (A) Use of fertilizer
(B) Rarg gw1 (B) Irrigation
(C) FHEMD EE gN (C) Use of organic manures
(D) SWE ¥ | TS el (D) None of the above
35. o @I d-d 9 & : 35.  Botanical name of paddy :
(A) SIRTSS Hergal (A) Oryza Sativa
(B) fmr &= (B) Zea mays
(C) uIgHH ﬁE’lS‘cm (C) Pisum sativum
(D) T @‘gsn (D) Avena fatua
36. SR Bl Pl ISV @ 36. Example of cover crop is :
(A) HIDT (A) Maize
(B) dTSIXT (B) Pearl millet
(C) & (C) Paddy
(D) S (D) Urd

Ag-102 (12) Set-C



37.

38.

39.

40.

Ag-102

T fasm ores fo 9T @7 ® ?

(A) dfed
(B) "i®
(C) W9
(D) YRAE

YO T e 2
(A) YR SHA

(B) ORI T

(C) T4 TH 9

(D) W O, ¥rsd

IRAT § AgIoM I gfererdar Bl €
(A) 46

(B) 48

(C) 20

(D) 16

TR TR H dH-A BAd a9 o
CUIERSINIRI

(A) HFhT

(B) diie]

(C) &

(D) HU

(13)

37.

38.

30.

40.

The term ‘Agronomy’ is derived from
which language ?

(A) Latin

(B) Greek

(C) French

(D) Indian

Father of Tillage is :

(A) Petero Decresenzi
(B) Jethro Tull
(C) S.S.Bains

(D) G.J. Mendel

Percentage of nitrogen in urea is :

(A) 46
(B) 48
(C) 20
(D) 16

Which crop is grown in U. P. in all the

three seasons ?

(A) Maize
(B) Potato
(C) Paddy

(D) Cotton

Set-C



41, W] T R © 41. Khaira disease belongs to :

(A) TEW (A) Wheat
(B) | (B) Maize
C) “H ¥ (C) Rice
(D) WR ¥ (D) Sorghum

42. BN BET TOIwl’ fhAe gRT fordy 42. ‘Horse Hoeing Husbandry’ was written

7 by :
(A) TIRI TA (A) Jethro Tull
(B) QMR I (B) Arthur Young
(C) Wl TE §R (C) J.S.Kunwar
(D) . 1. e (D) J.V. Liebig
43. RN P AT AT N 2 43. The optimum seed rate of pigeon-
pea:
(A) 10-12 fouiR. (A) 10-12 kg/ha.
(B) 12-15 fHuisR. (B) 12-15 kg/ha.
(C) 15-20 fHu/R. (C) 15-20 kg/ha.
(D) 20-25 fHUfR. (D) 20-25 kg/ha.

Ag-102 (14) Set-C



44,

45.

46.

Ag-102

W OF W B SR-SAEES Bl
BIRNGRIIS R

(A) 0.3%
(B) 0.03%
(C) 0.25%

(D) 0.50%
ffoiad 4 4 -9 16 IR-9gHS
RIEERINI

(A) TETFHIEC

(B) Rrare

(©) (A) 3R (B) T

(D) Suga H A Bl el

Rreg & ot & a1 SRS & W Al
e @ -

(A) g

(B) WeHIeM

(C) 3TerTa

(D) SudTd aHl

(15)

44,

45.

46.

Percentage of CO; in soil airis :

(A) 0.3%
(B) 0.03%
(C) 0.25%

(D) 0.50%

Which one of the following is a non-

selective herbicide ?

(A) Glyphosate

(B) Paraquat

(C) Both (A)and (B)

(D) None of the above

Use of fertilizer with irrigation water is

called :

(A) Fumigation

(B) Fertigation

(C) Isolation

(D) All of the above

Set-C



47. MRAT 9G¥ fasme fQurT @ W o9 47. Indian Meteorological Department was

Es; 5 established in :
(A) 1975 (A) 1975
(B) 1875 (B) 1875
(C) 1932 (C) 1932
(D) 1962 (D) 1962
48. a@qﬂ@aaﬁﬁﬂ?ﬁw%: 48. Lower surface of atmosphere is :
(A) TURBRR (A) Troposphere
(B) HRIRWRR (B) Mesosphere
(C) TRWRR (C) Stratosphere
(D) ARWRR (D) Thermosphere
49. TSIl Uh © 49. Azollaisa:
(A)  ITHATE (A) Herbicide
(B) Pl (B) Insecticide
(C) HaADHIN (C) Fungicide
(D) VISR® (D) Biofertilizer
50. WRAN $iY IHeH | $al © 7 50. Indian Agriculture Research Institute is
located in :
(A) YIS (A) Lucknow
(B) I (B) Bhopal
(C) TREE (C) Hyderabad
(D) s facel! (D) New Delhi

Ag-102 (16) Set-C



51. fa=foRad & 9 DIH-91 SeHS @e © ? 51.  Which of the following is organic manure ?

(A) B (A) Compost
(B) TR $I Wg (B) Farm Yard Manure
© Zfﬁﬂ GG (C) Vermicompost
(D) Sugad FHI (D) All of the above
52. 39T R TS Il ® 52.  Ozone layer is found in :
(A) TRHRR ¥ (A) Stratosphere
(B) HIRWRR # (B) Mesosphere
(C) CTIUR®RR (C) Troposphere
(D) YARDRR ¥ (D) Thermosphere
53. AU BT BT FEdT 8T Bl & 53. Cropping intensity of monocropping is
always :
(A) 100% (A) 100%
(B) 200% (B) 200%
(C) 300% (C) 300%
(D) 400% (D) 400%
54. g7 DI fd foad grT A oy € ? 54. Wind speed is measured by :
(A) T feeid (A) Wind vane
(B) UAMMICR (B) Anemometer
(C) dieMieR (C) Potometer
(D) TR (D) Tensiometer

Ag-102 (17) Set-C



55. WRA H fdeel Sorary & § ? 55. There are how many climatic zones in

India ?
(A) 16 (A) 16
(B) 15 (B) 15
€ 20 (C) 20
D) 9 (D) 9

56. g =T H Sl &1 fhar fed 56. What is the percentage of oxygen in pure

B 8 7 air 2

(A 21% (A 21%
(B) 20% (B) 20%
(C) 19% (C) 19%
(D) 78% (D) 78%

57. M= Ufdd @awen & | U6 & 90 & 57. Growing of two or more crops

R e T simultaneously on the same piece of land
with definite row arrangement is called :

ST HEAT € -

(A) Fi¥a wad (A) Mixed cropping

(B) 31 B (B) Intercropping

) fafa = (C) Mixed farming

(D) 3ih A® Hecl (D) Sequential cropping

Ag-102 (18) Set-C



58. Toledl B @ d Bl SUARd fbar 58. The seed of pulse crops is inoculated by :

ST B

(A) TSISTH Heak §RT (A) Rhizobium culture
(B) e 3R YAl gRI (B) Blue green algae
(C) TSilell &R (C) Azolla

(D) SWE ¥ | TS el (D) None of the above

59. WRAN BN 3JHYM URYG & WU g 59. Indian Council of Agriculture Research

E—g off ? was established in :
(A) 1939 (A) 1939
(B) 1929 (B) 1929
(C) 1938 (C) 1938

60. fY=ifeiRed # & dI-ar U @7 qf Wy 60.  Which of the following is a basic plant

TR ? nutrients ?

(A) (A) Carbon

(B) EISSIoM (B) Hydrogen

(C) MRS (C) Oxygen

(D) Sugad FI (D) All of the above

Ag-102 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |
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